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1. भारत के लौह पुǽष के Ǿप मɄ Ǒकसे जाना जाता है? ? 
 A. गोइǒवदं वãलभ पतँ B. जवाहरलाल नेहǾ 
 C. सभुाष चġं बोस D. सरदार वãलभभाई पटेल 
     
 Who was known as Iron man of India? 
 A. Govind Ballabh Pant B. Jawaharlal Nehru 
 C. Subhash Chandra Bose D. Sardar Vallabhbhai Patel 
     

2. पौधɈ मɄ Ƴसन Ǒकसके Ʈारा होता है ? 
 A. èटोमेटा B. लɅǑटसेãस 
 C. उपरोƠ दोनो हȣ D. उपरोƠ दोनो हȣ नहȣU  
     
 Respiration in plants takes place through 
 A. Stomata B. Lenticels 
 C. Both A and B D. Neither of A or B 
     

3. भारत मɄ िनàन मɄ स ेकौन सा नाम यनेूèको कȧ ǒवƳ जैव मँडल नेटवक[  कȧ सूची मɄ है ? 
 A. पलामू टाइगर ǐरजव[ B. ǔजम कोबȶट 
 C. काÛहा राƶीय उÙƭान  D. अचानकमार - अमरकँटक 
     
 Which one is the Biosphere Reserve in India as per the World Network of Biosphere Reserves 

(WNBR) of UNESCO? 
 A. Palamu Tiger Reserve B. Jim Korbet 
 C. Kanha National Park D. Achanakamar – Amarkantak  
     

4. तंǒğका तँतुओU (एÈजोन) का सगंम जो एक तंǒğका कोिशका (Ûयूरोन) से दसूरȣ मɄ सचूना Ĥचािलत 
करने का काम करता है, Èया कहलाता है ? 

 A. तंǒğका के िसरे B. साइनेÜस 
 C. साइटोÜलाèम D. ÛयूǔÈलयस 
     
 The nerve fibre (axon) passes the impulse to another neuron through a junction called 
 A. Nerve endings B. Synapse 
 C. Cytoplasm D. Nucleus 
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5. ǒवƳ तàबाख ूिनषƧे Ǒदवस 31 मई 2018 कȧ मÉुय थीम Èया थी ?  
 A. तंबाकू एव ँकɆ सर रोग B. तंबाकू एव ँǿदय रोग 
 C. तंबाकू एव ँबाल मजदरूȣ D. तंबाकू एव ँमानव èवाèØय 
     
 What was the main theme of the World No-Tobacco Day held on May 31, 2018? 
 A. Tobacco and Cancer 

disease 
B. Tobacco and Heart disease 

 C. Tobacco and Child labor D. Tobacco and Human health 
     

6. ǒवƳ पया[वरण Ǒदवस, 2018 कȧ ǒवषय (थीम) Èया था ? 
 A. इलÈेĚोिनक Ĥदषूण को 

हराना 

B. Üलाǔèटक Ĥदषूण को हराना 

 C. कȧटनाशकɈ के Ĥदषूण को 
हराना 

D. रासायिनक Ĥदषूण को हराना 

     
 What was the theme of World Environment Day 2018 ? 
 A. Beat the Electronic 

Pollution 
B. Beat the Plastic Pollution 

 C. Beat the Pesticide 
Pollution 

D. Beat the Chemical Pollution 

     
7. िनàन मɄ से कौन सा शक[ रा का उदाहरण नहȣU है ? 

 A. माãटोस B. ĥÈटोस 

 C. Êलाईकोजन D. Êलाईसीन 

     
 Which among the following is not an example of carbohydrate?  
 A. Maltose B. ) Fructose 
 C. Glycogen D. Glycine 
     

8. भारत के चाँरɈ कोनɈ मɄ आÚयामǔ×मक एवँ बौǔÚदक कɅ ġɈ के Ǿप मɄ चार मठɈ कȧ èथापना Ǒकसने 
कȧ थी ? 

 A. आǑदशंकराचाय[ B. मदन िमĮा   
 C.  य£ावãक  D. अखंडानंद सरèवती  
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 Who established four "Math" in all four corners of India as centre of spirituality and 
wisdom ?  

 A. Aadishankaracharya B. Madan Mishra 
 C. Yagyavalk D. Akhandanand Saraswati 
     
     

9. िनàन मɄ से Ǒकस रेãव ेèटेशन का नाम बदल कर दȣन दयाल उपाÚयाय रेãव ेèटेशन रखा गया है? 
 A. मथरुा B. मगुलसराय 

 C. कोडमा[ D. अलवर 
     
 Which of the following railway stations has been renamed as the Deen Dayal Upadhyaya railway 

station?  
 A. Mathura B. Mughalsarai 
 C. Koderma D. Alwar 
     

10. िनàन मɄ से कौन सी रƠ वाǑहका मɄ ऑÈसीजन रǑहत रƠ ĤवाǑहत होता है ? 
 A. एओटा[ B. फेफड़ɉ Ǒक (पãमोनरȣ) 

धमनी 
 C. यकृत कȧ (ǑहपǑेटक) 

धमनी 

D. फेफड़ɉ Ǒक (पãमोनरȣ) िशरा 
(नस) 

     
 Which of the following blood vessel that carries deoxygenated blood?  
 A. Aorta B. Pulmonary artery 
 C. Hepatic artery D. Pulmonary vein 
     

11. QS ǒवƳǒवÚयालय रɇǑकंग 2018, के अनुसार भारत मɄ सव[ĮƵे Įणेी का ǒवƳǒवÚयालय है ? 
 A. इंǑडयन इंèटȣÒयूट ओफ 

साɃस, बɅगलǾू 

B. आई.आई.टȣ, Ǒदãली 

 C. आई.आई.टȣ., कानपरु D. आई.आई.टȣ., मुँबई 
     
 According to the QS University Ranking 2018, which is the highest ranking university of India?  
 A. Indian Institute of 

Science, Bangalore 
B. IIT Delhi 

 C. IIT Kanpur D. IIT Mumbai 
     

12. ǒवटािमन बी12 का रासायिनक नाम Èया है ? 
 A. िनकोǑटिनक एिसड B. राइबोÝलǒवन 
 C. थाईमीन D. साईनोकोबालएिमन 
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 What is chemical name of Vitamin B12 ?  
 A. Nicotinic acid B. Riboflavin 
 C. Thiamine D. Cyanocobalamin 
     

13. िनàन मɄ से Ǒकस उपलǔÞध हेतु िमथाली राज चचा[ मɄ रहȣ हɆ ? 
 A. अंतराƶीय टȣ20 ǑĐकेट 

मुकाबल ेमɄ २००० रन 
बनाने वाली Ĥथम 
भारतीय मǑहला ǔखलाड़ȣ 

B. अंतराƶीय एक Ǒदवसीय 
ǑĐकेट मकुाबले मɄ २००० रन 
बनाने वाली Ĥथम भारतीय 
मǑहला ǔखलाड़ȣ 

 C. अंतराƶीय टȣ20 ǑĐकेट 
मुकाबल ेमɄ ३००० रन 
बनाने वाली Ĥथम 
भारतीय मǑहला ǔखलाड़ȣ 

D. अंतराƶीय टȣ20 ǑĐकेट 
मुकाबल ेमɄ १००० रन बनाने 
वाली Ĥथम भारतीय मǑहला 
ǔखलाड़ȣ 

     
 For which of the following achievements, Mithali Raj was in the news recently?  
 A. First Indian woman 

cricketer to score 2000 
runs in T20 international 

B. First Indian woman cricketer 
to score 2000 runs in One 
Day international 

 C. First Indian woman 
cricketer to score 3000 
runs in T20 international 

D. First Indian woman cricketer 
to score 1000 runs in T20 
international 

     
14. िनàन मɄ से कौन सा यौन संचाǐरत रोग है ? 

 A. ãयकेूिमया B. िसफिलस 
 C. वणाɍधता D. उपरोƠ सभी 
     
 Which of the following is a sexually transmitted disease?    
 A. Leukemia B. Syphilis 
 C. Colour Blindness D. All of the above 
     

15. िनàन देश के भारत के साथ कृǒष, èवाèØय एवँ वातावरण के ¢ेğ को सǺुढ़ करने हेतु सहयोग कर 
रहा है ? 

 A. िसगंापूर B. Ǿस 
 C. इजराईल D. जम[नी 
     
 With which country India collaborate to strengthen sectors of agriculture, health & environment?  
 A. Singapore B. Russia 
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 C. Israel D. Germany 
     

16. यǑद कोई åयǒƠ उसकȧ आखँ से २५ स.ेमी. दरू रखी Ǒकसी वèतु को èवÍछ देख सकता है तो वह 
िनàन रोग से पीǑड़त है ?  

 A. मायोǒपया B. हाइपर मायोǒपया 
 C. एǔèटÊमǑैटèम D. उपरोƠ मɄ से कोई नहȣ 
     
 If a person can see an object clearly when it is placed at about 25 cm away from him, he is 

suffering from -  
 A. Myopia B. Hyper- myopia 
 C. Astigmatism D. None of the above 
     

17. राƶमंडल खले 2018 मɄ भारत Ʈारा कुल Ǒकतने मेडल जीते गये ? 
 A. 58 B. 62 
 C. 66 D. 68 
     
 Total number of medals won by India in the 2018 Commonwealth Games is - 
 A. 58 B. 62 
 C. 66 D. 68 
     

18. 3 - 4 वष[ तक के बÍचे मɄ िनàन मɄ से कौन से दाँतɈ का Ĥकार दधू के दाँतɈ कȧ Įणेी मɄ नहȣU आता है ? 
 A. कृतंक दातं B. कैनाइन दांत 
 C. दाढ़ दातं D. पूव[ दाढ़ दातं 
     
 Which of the following teeth of child (aged 3 - 4 Years) is not a part of the milk teeth?  
 A. Incisors B. Canines 
 C. Molars D. Premolars 
     

19. ६५वɄ राƶीय परुèकार समारोह २०१८ मɄ सव[-ĮƵे नाियका का पुरèकार Ǒकसने जीता ? 
 A. Įीदेवी B. रानी मकुजȸ 
 C. Ǒदåया दƣा D. काजोल 
     
 Who won the Best Actress Award in the 65th National Awards in 2018?  
 A. Sridevi B. Rani Mukherjee 
 C. Divya Dutta D. Kajol 
     

20. देश कȧ Ĥथम मǑहला लोकसभा अÚय¢ (èपीकर) कौन थीU ? 
 A. मीरा कुमार B. èĨीित ईरानी 
 C. इंǑदरा गांधी D. सुिमğा महाजन 
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 Who was the first female speaker of Lok Sabha  in the country ?  
 A. Mira Kumar B. Smiriti Irani 
 C. Indira Gandhi D. Sumitra Mahajan 
     

21. èवèØय माता एवँ वणाɍध ǒपता कȧ सÛतान के वणाɍध होने का Ǒकतना Ĥितशत अदेंशा है ? 
 A. 0 Ĥ.श. B. 25 Ĥ.श. 
 C. 50 Ĥ.श. D. 100 Ĥ.श. 
     
 What proportion of children is likely to be colour blind when their parent (mother has normal 

vision & father has colour-blindness)?  
 A. 0 per cent B. 25 per cent 
 C. 50 per cent D. 100 per cent 
     

22. २१ जनू को Èया मनाया जाता है ? 
 A. ǒवƳ जनसÉँया Ǒदवस B. ǒवƳ Ĥाणी Ǒदवस 
 C. ǒवƳ योग Ǒदवस D. ǒवƳ वायु सेना Ǒदवस 
     
 21st June is celebrated as ?  
 A. World Population Day B. World Animal Day 
 C. World Yoga Day D. Indian Air force Day       
     

23. िनàन मɄ से कौन सी फसल "तुषार रोग" Ēèत हो जाती है ? 
 A. आलू B. धान 
 C. गÛना D. गɄहू 
     
 Which of the following crop is affected by the "early blight" disease?  
 A. Potato B. Rice 
 C. Sugarcane D. Wheat   
     

24. वन अनसुधँान सँèथान कहाँ ǔèथत है ? 
 A. देहरादनू B. दजȸलींग 
 C. भुवनƳेर D. रांची 
     
 Forest Research Institute is situated at - 
 A. Dehradun B. Darjeeling 
 C. Bhubneshwar D. Ranchi 
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25. कɅ ġȣय दवा अनुसँधान सèँथान कहाँ पर ǔèथत है ? 

 A. Ǒदãली B. बंगलǾू 
 C. चÛेनई D. लखनऊ 
     
 Where the Central Drug Research Institute of India is located? 
 A. Delhi B. Bangaluru 
 C. Chhennai D. Lucknow 
     

26. बी.सी. रॉय अवाड[ Ǒकस फȧãड मɄ Ĥदान Ǒकया जाता है ? 
 A. सगंीत B. पğकाǐरता 
 C. िचǑक×सा D. पया[वरण 
     
 B. C. Roy Award is given in the field of  
 A. Music B. Journalism 
 C. Medicine D. Environment   
     

27. िनàन मɄ से कौन सा मुशंी Ĥेमचदं ने नहȣU िलखा है ? 
 A. गोदान B. गबन 
 C. गाईड D. मानसरोवर 
     
 Which of the following is NOT written by Munshi Premchand?  
 A. Godan B. Gaban 
 C. Guide D. Manasorovar 
     

28. यǑद Ǒकसी åयǒƠ का वज़न पØृवी पर 300 N है, तो चġंमा पर Èया होगा ? 
 A. 3000 N B. 30 N 
 C. 50 N D. 100 N 
     
 If a man has weight 300 N on earth then what his mass be on the moon?  
 A. 3000 N B. 30 N 
 C. 50 N D. 100 N 
     

29. रेǑडयोधमȸ पदाथ[ रेǑडयम कȧ खोज Ǒकस व£ैािनक नɄ कȧ थी ? 
 A. Ûयूटन B. अलबट[ आईÛèटȣन 
 C. बɅजािमन ĥɇ किलन D. मैरȣ Èयूरȣ 
     
 Which scientist discovered the radioactive element radium?  
 A. Newton B. Albert Einstein 
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 C. Benjamin Franklin D. Marie Curie 
     

30. िनàन मɄ से कौन सा हामȾन åय×ूपÛन ĤाǾप अथा[त पािथ[नोकापȸ मɄ सहयोग करता है ? 
 A. ऐǔÞसिसक एिसड B. ǔजÞबलȸन 
 C. ईथीलीन D. साईटोकाइनीन 
     
 The hormones that helps in parthenocarpy.  
 A. Abscisic Acid B. Gibberllin 
 C. Ethylene D. Cytokinin 
     

31. िनàन मɄ से Ǒकस देश नɄ, ǔजसने कभी टेèट मचै नहȣं खलेा था, भारत को अतंरा[ƶीय ǑĐकेट मैच मɄ 
हराया था । 

 A. कनाडा B. Įीलंका 
 C. ǔजàबाÞव े D. ईèट अĥȧका 
     
 Which was the first non Test playing country to beat India in an international match?  
 A. Canada B. Sri Lanka 
 C. Zimbabwe D. East Africa 
     

32. काब[न, Ǒहरा एवँ Ēफाईट को सǔàमिलत Ǿप से Èया कहना उिचत होगा ? 
 A. एलोĚोप B. आईसोमोफ[  
 C. आईसोटोप D. आईसोमर 
     
 Carbon, diamond and graphite are together called ? 
 A. Allotropes B. Isomorph 
 C. Isotopes D. Isomers 
     

33. साक[  के काय[ĐमɈ को सचंािलत करन ेहेतु साक[  देशɈ का èथायी सिचवालय कहा ँǔèथत है ? 
 A. ढाका B. नई Ǒदãली 
 C. कोलàबो D. काठमांडू 
     
 Permanent secretariat to coordinate the implementation of SAARC programme is located at - 
 A. Dhaka B. New Delhi 
 C. Colombo D. Kathmandu 
     

34. सोलर िसèटम कȧ खोज ǑकसनɄ कȧ ? 
 A. कोपरिनकस B. आय[भÒट 
 C. केÜलर D. Ûयूटन 
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 Who discovered the Solar system?  
 A. Copernicus B. Aryabhatta 
 C. Kepler D. Newton 
     
     

35. िनàन मɄ स ेĤकाश का कौन सा अवयव Ĥकाश सƲंेषण कȧ ĤǑĐया को अिधक Ĥभावी बनाता है ? 
 A. पराबɇगनी ǑकरणɄ B. लाल ǑकरणɄ 
 C. नीली ǑकरणɄ D. अवरƠ ǑकरणɄ 
     
 Which of the following components of the light increases the effectiveness of the Photosynthesis 

process?  
 A. Ultraviolet  B. Red  
 C. Blue  D. Infrared  
     

36. यǑद A भाई है B एव ँK का, D माँ है B कȧ एवँ E ǒपता हɆ A के, तो िनàन मɄ से कौन सा कथन िनǔƱत हȣ 

स×य नहȣं होगा ? 
 A. B और K भाई हɆ B. A ǒपता हɆ K के 
 C. A पğु हɆ D के  D. D पƤी हɆ E कȧ   
     
 If A is the brother of B and K, D is the mother of B and E is the father of A. Which one of the 

following statement is not definitely true?  
 A. B is the brother of K B. A is the father of K 
 C. A is the son of D D. D is the wife of E   
     

37. ओगȶनɈÈलोरȣन कàपाऊंड डȣ.डȣ.टȣ ǔजस ेसव[Ĥथम मलेǐरया-कारक मÍछरɈ एव ँबाद मɄ अÛय 
नािशकȧटɈ के िनयंğण हेतु उपयोग Ǒकया जाता था, को ÈयɈ Ĥितबिँधत Ǒकया गया था ? 

 A. यह सÈेस गुणसğूओU मɄ 
पǐरवत[न लाता है 

B. यह वातावरण मɄ लबें समय तक 
बना रहता है तथा जवै-सचंयन 
करता है 

 C. यह ǿदय कȧ गित को बढाता है  D. उपरोƠ सभी 
     
 Why was DDT banned which is an organo- chlorine compound, used first to control malaria, carried 

in mosquitoes and later to a variety to insect pests?  
 A. It brings about a change 

in sex chromosomes 
B. It persists in the 

environment and bio-
accumulates 

 C. It increases heartbeat D. All of these    
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38. िनàन मɄ से कौन सा शÞद अÛय से मले नहȣं खाता ? 
 A. दहȣ B. मÈखन 
 C. तले D. चीज (Cheese) 
     
 Choose the word which is different from the rest ?  
 A. Curd B. Butter 
 C. Oil D. Cheese 
     

39. िनàन मɄ से Ǒकस ĤǑĐया मɄ CO2 नहȣं बनती ? 
 A. दहन B. Ƴसन 
 C. ǑकÖवन D. Ĥकाश सƲेंषण 
     
 Which of the following process does not involve evolution of CO2?  
 A. Combustion B. Respiration 
 C. Fermentation D. Photosynthesis 
     

40. यǑद Ǒकसी कूट भाषा मɄ FIRE को DGPC िलखा जाये, तो कूट भाषा मɄ िलखे SHOT शÞद का अिंतम अ¢र Èया 
होगा ? 

 A. Q B. R 
 C. S D. P 
     
 In certain code FIRE is coded as DGPC. What will be the last latter of the coded word for SHOT ? 
 A. Q B. R 
 C. S D. P 
     

41. िनàन मɄ से कौन सी Ēंिथ रƠचाप को िनयǒंğत करती है ? 
 A. थैलमेस Ēंिथ B. एǑĜनल Ēिंथ 
 C. थाईरोईड Ēिंथ D. पɇǑĐयाज Ēंिथ 
     
 Which of the following  gland controls the blood pressure?  
 A. Thalamus gland B. Adrenal gland 
 C. Thyroid gland D. Pancreas gland 
     

42. दȣ गई ऋँखला के ǐरƠ èथानɈ मɄ भरकर उसे पूण[ करनɄ हेतु िनàन समूहɈ मɅ से Ǒकस समूह का 
अ¢र समूह उपयƠु होगा ?  

BCA_B_AABC_A_CAA 
 

 A. ACAB B. BCBB 
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 C. CBAB D. CCAB 
     
 Which one set of letters when sequentially placed at the gaps in the given series shall complete it ? 

 
BCA_B_AABC_A_CAA  

 
 A. ACAB B. BCBB 
 C. CBAB D. CCAB 
     

43. काँसा िनàन मɄ स ेǑकस ेिमला कर बनी एक िमिĮत धातु है ? 
 A. ताàबा एवँ ǔजंक B. ताàबा, ǔजंक एवँ Ǒटन 
 C. ताàबा एवँ Ǒटन D. उपरोƠ मɄ से कोई नहȣ 
     
 Bronze is an alloy of ?  
 A. Copper and Zinc B. Copper, Zinc and Tin 
 C. Copper and Tin D. None of the above 
     

44. यǑद एक कार औसतन 25 मी./से. कȧ गित से चल रहȣ है तो उसकȧ Ǒक.मी./घँ. मɄ औसत गित Èया 

होगी? 
 A.  96 Ǒक.मी./घँ. B. 90 Ǒक.मी./घँ. 
 C. 95 Ǒक.मी./घँ. D. 85 Ǒक.मी./घँ. 
     
 If a car travels at an average speed 25 m/s then average speed in km/h is ? 
 A. 96 km/h B. 90 km/h 
 C. 95 km/h D. 85 km/h 
     

45. यǑद  मɆ अपने घर से ३० मी. उƣर-पǔƱम Ǒदशा मɄ चलता हँू, त×पƱात ३० मी. दǔ¢ण-पǔƱम Ǒदशा 
मɄ चलता हँू, Ǒफर यǑद अपने घर कȧ और मुड़ जाता हँू तो मɆ Ǒकस Ǒदशा मɄ जा रहा हँू ? 

 A. पूवȾƣर B. उƣर-पǔƱम 
 C. दǔ¢ण-पूव[ D. दǔ¢ण-पǔƱम 
     
 If I walk 30 meters in North-West direction from my house and then 30 meters in South-West 

direction. Thereafter, I walk 30 meters in South-East direction. Now, I turn to my house, in what 
direction am I going?  

 A. North-East B. North-West 
 C. South-East D. South-West 
     

46. Ǒकस वष[ मɄ डैिनश ईèट इंडȣया कंपनी बनी थी ? 
 A. 1614 B. 1615 
 C. 1616 D. 1617 
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 In which year, the Danish East India company was formed ?  
 A. 1614 B. 1615 
 C. 1616 D. 1617 

 
47. रमशे को 33 ǒवƭाथȸयɈ कȧ क¢ा मɄ १३वीU Įेणी ĤाƯ होती है, 5 ǒवƭाथȸ Įणेीवार सुरेश से नीचे हɆ तो रमेश 

एव ँसुरेश के मÚय कुल Ǒकतने ǒवƭाथȸ हɆ ? 
 A. 12 B. 14 
 C. 15 D. 16 
     
 Ramesh ranks 13th in the class of 33 students. There are 5 students below Suresh rank wise. How 

many student are there between Ramesh and Suresh?  
 A. 12 B. 14 
 C. 15 D. 16 
     

48. Üलासी का यƨु Ǒकस सन मɄ लड़ा गया था ? 
 A. 1757 B. 1782 
 C. 1748 D. 1764 
     
 The Battle of Plassey was fought in 
 A. 1757 B. 1782 
 C. 1748 D. 1764 
     

49. एक सÞजी बचेने वाला एक ǽपये मɄ दो नींब ूखरȣदता है तथा तीन ǽपये मɄ पाँच कȧ दर से बचेता 
है तो उसके लाभ का Ĥितशत है ? 

 A. 10 % B. 15 % 
 C. 20 % D. 25% 
     
 A fruit seller buys lemons at 2 for a rupee and sells then at 5 for three rupees. His gain percent is ? 
 A. 10 % B. 15 % 
 C. 20 % D. 25% 
     

50. यǑद एक ǒğÏया के कɈण 42°,73°,and 65° हɆ, तो ǒğÏया का बाहरȣ कोण Èया होगा ?  
 A. 1150 B. 650 
 C. 860 D. 1170 
     
 If the angles of a triangle are 42°,73°,and 65°, which of the following would be an exterior angle of 

the triangle.  
 A. 1150 B. 650 
 C. 860 D. 1170 
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51. भारत कȧ ǒĦटȣश राजधानी कोलकाता से Ǒदãली कब èथानातंǐरत हुई ? 
 A. 1911 B. 1912 
 C. 1909 D. 1905 
     
 When was the British capital of India shifted from Kolkata to Delhi ?  
 A. 1911 B. 1912 
 C. 1909 D. 1905 

 
52. एक सहȣ चलने वाली घड़ȣ सुबह के 8:00 बजाती है  । दोपहर के 2:00 बजे तक घड़ȣ के घटें वाला 

कांटा Ǒकतने कɈण से चल चुका होगा ? 
 A. 1440 B. 1800 
 C. 1600 D. 1550 
     
 An accurate clock shows 8 o'clock in the morning. Through how may degrees will the hour hand 

rotate when the clock shows 2 o'clock in the afternoon?  
 A. 1440 B. 1800 
 C. 1600 D. 1550 
     

53. भारत मɄ मुगल राज के समय सव[Ĥथम तàबाकू कȧ खतेी Ǒकस èथान पर होती थी ?  
 A. मġास B. गजुरात 
  C. Ǒदãली D. कोलकाता 
     
 During the Mughal rule in India tobacco was first cultivated in ? 
 A. Madras B. Gujarat 
 C. Delhi D. Culcutta 
     

54.  िनàन मɄ से कौन सी पव[त ऋँखला गंगा का मदैानी ¢ेğ एव ँदÈकन के पठार के मÚय एक 
ǒवभाजन रेखा बनाती है ? 

 A. आरावली B. ǒवंÚय 
 C. सतपडूा D. अजतंा 
     
 Which of the following mountain ranges form a dividing line between the Ganges Plain and the 

Deccan Plateau?  
 A. Aravalli B. Vindhya 
 C. Satpura D. Ajanta 
     

55. Ƀकलाब ǔजंदाबाद का नारा Ĥचिलत करने वाले िनàन मɄ से Ĥथम थे ? 
 A. भगत िसँह B. एम केãलÜपन 
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 C. वीर सावरकर D. शंकरन नायर 
 

     
 Who was the first to popularize the slogan 'Inquilab zindabad'?  
 A. Bhagat Singh B. M Kelappan 
 C. Veer Savarkar D. Shankaran Nair 
     

56. ¢ेğफल मɄ सबसे छोटा भारत का पड़ोसी देश है ? 
 A. भूटान B. नेपाल 
 C. Įीलंका D. बांगलादेश 
     
 The neighboring country of India which has the smallest area is ? 
 A. Bhutan B. Nepal 
 C. Sri Lanka D. Bangladesh 
     

57. भारत एवँ पाǑकèतान के ǒवभाजन कȧ आिधकाǐरक घोषणा Ǒकस ितिथ को कȧ गई थी ? 
 A. मई 2, 1947 B. जनू 3, 1947 
 C. जलुाई 4, 1947 D. आगèत 5, 1957    
     
 On which date was the announcement formally made that India and Pakistan would be made free?  
 A. May 2, 1947 B. June 3, 1947 
 C. July 4, 1947 D. August 5, 1957    
     

58. अकबर बादशाह के समय मɄ गहृिनमा[ण संबधंी सामĒी होती थी ? 
 A. सगंमरमर B. ɂटɄ 
 C. चूना प×थर D. लाल प×थर 
     
 The architectural raw material generally used in Akbar's period was ? 
 A. Marble B. Brick 
 C. Limestone D. Redstone 
     

59. भारत के Ǒकस शासक नɄ अĒंेजɈ को खदेड़ने के िलय ेनेपोिलयन स ेमदद मागंी थी ? 
 A. िशवाजी B. जय िसँह 
 C. टȣप ूसुãतान D. झांसी कȧ रानी 
     
 Which Indian ruler had requested Napoleon for help in driving the British away from India? 
 A. Shivaji B. Jai Singh 
 C. Tipu Sultan D. Rani of Jhansi 
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60. राÏयसभा के सदèयɈ का चुनाव करते हɆ ? 

 A. आम जनता B. लोकसभा 
 C. ǒवधान सभाओU के चुने 

हुए Ĥितिनिध 

D. ǒवधान पǐरषद के चनुे हुए 
Ĥितिनिध 

     
 The members of the Rajya Sabha are elected by ?  
 A. the people B. Lok Sabha 
 C. elected members of the 

legislative assembly 
D. elected members of the 

legislative council 
     

61. चारमीनार का िनमा[ण Ǒकया था ? 
 A. अली आǑदल शाह B. किनçक 
 C. कुली कुतुब शाह D. जहागँीर 
     
 The Char Minar was constructed by ? 
 A. Ali Adil Shah B. Kanishka 
 C. Quli Qutb Shah D. Jahangir 
     

62. राजèथान मɄ èथाǒपत राणा Ĥताप सागर पǐरयोजना Ǒकस स ेसंबंिधत है ? 
 A. परमाणु ऊजा[ B. सौर ऊजा[ 
 C. पनǒबजली D. िसचँाई 
     
 Rana Pratap Sagar Plant (Rajasthan) is associated with ? 

 
 A. Nuclear power B. Solar energy 
 C. Hydroelectricity D. Irrigation 
     

63. िनàन मɄ से कौन भारतीय संǒवधान के आलखेन सिमित का अÚय¢ था ? 
 A. पँ. जवाहरलाल नेहǾ B. सǔÍचदानंद िसÛहा 
 C. बी.आर. अँबेडकर D. डा.ँ राजɅġ Ĥसाद 

     
 Who among the following was the Chairman of the Drafting Committee of the Indian Constitution?  
 A. Pt. Jawaharlal Nehru B. Sachidananda Sinha 
 C. B.R. Ambedkar D. Dr. Rajendra Prasad 
     

64. बाबर एव ँराणा साँगा के मÚय यƨु कहाँ हुआ था ? 
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 A. पानीपत B. चुनार 
 C. खानवा D. जौनपरु 
     
 The battle between Babar and Rana Sanga was fought at ? 
 A. Panipat B. Chunar 
 C. Khanwa D. Jaunpur   
     

65. ऐसी उपमहाƮȣपीय भिूम जो पानी स ेिघरȣ हो को िनàन मɄ से Ǒकस भूभागीय पǐरभाषा स े
पǐरभाǒषत Ǒकया जायेगा ? 

 A. ĤायƮȣप B. खाड़ȣ 
 C. जल संधी D. टाप ू(Ʈȣप) 
     
 Which of the following geographical term related with the ''piece of sub-continental land that is 

surrounded by water''?  
 A. Peninsula B. Gulf 
 C. Strait D. Island 
     

66. सǒंवधान सभा का गठन हुआ था ? 
 A. 1945 B. 1946 
 C. 1947 D. 1948 
     
 The constituent Assembly was set up in ? 
 A. 1945 B. 1946 
 C. 1947 D. 1948 
     

67. िनàन मɄ से कौन सा दरा[ (पास) Įीनगर को लेह स ेजोड़ता है ? 
 A. माना दरा[ B. रोहताँग दरा[ 
 C. नथलुा दरा[ D. जोǔजला दरा[ 
     
 Which of the following pass link the Srinagar to Leh?  
 A. Mana Pass B. Rohtas Pass 
 C. Nathula Pass D. Zoji La Pass 
     

68. ǒवƳ के जंगलɈ का Ǒकतना Ĥितशत ¢ğे उƭोगɈ, कृǒष, चराई एवँ जलावन हेतु सन 1700 से 1995 के 

मÚय उपयोग मɄ लाया गया ? 
 A. 19.3 Ĥ.श. B. 9.3 Ĥ.श. 
 C. 6.3 Ĥ.श. D. 16.3 Ĥ.श. 
     
 How many percent of world forest area was cleared for industrial uses, cultivation, pastures and 
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fuel wood between 1700 and 1995?  
 A. 19.3% B. 9.3% 
 C. 6.3% D. 16.3% 
     

69. हȣराकुड बाँध Ǒकस नदȣ पर ǔèथत है ? 
 A. मघेना B. महानदȣ 
 C. कृçणा D. कावेरȣ 
     
 On which river Hirakud dam is situated?  
 A. Meghna B. Mahanadi 
 C. Krishna D. Cauvery 
     

70. èवतğं भारत के सǒंवधान को तैयार करने कȧ ǔजàमेदारȣ िनàन मɄ से Ǒकस सिमित को दȣ गई थी? 
 A. संपादक मंडल B. सǒंवधान सभा 
 C. सघंीय सǒंवधान सिमित D. काय[ सिमित 
     
 Which body framed the Constitution of Independent India ?  
 A. Drafting Committee B. Constituent Assembly 
 C. Union Constitution 

Committee 
D. A Working Committee 

     
71. नम[दा नदȣ का उƥम है ? 

 A. सतपड़ुा B. अमरकंटक 
 C. Ħƺािगरȣ D. पǔƱमी घाटɈ के ढ़लान 
     
 The river Narmada originates from ? 
 A. Satpura B. Amarkantak 
 C. Brahmagiri D. Slopes of the Western Ghats     
     

72. िनàन मɄ से कौन वािनकȧ ĤजाितयɈ कȧ Įणेी मɄ नहȣं आता ? 
 A. बाँस B. नीम  
 C. अजु[न  D. शीशम  
     
 Which one of the below is not included in the forestry species ?  
 A. Bamboos B. Neem 
 C. Arjun D. Shisham 
     

73. लोकतक झील कहाँ ǔèथत है? 
 A. केरल B. उƣराचंल 
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 C. मनीपरु D. राजèथान 
     
 Where is the Loktak Lake situated?  
 A. Kerala B. Uttaranchal 
 C. Manipur D. Rajasthan 
     

74. कɅ ġȣय मंǒğमंडल मɅ मǒंğयɉ कȧ िनयǒुƠ Ǒकसके Ʈारा कȧ जाती है? 
 A. Ĥधान मğंी Ʈारा B. राƶपित Ʈारा 
 C. Ĥधान मğंी कȧ सलाह पर 

राƶपित Ʈारा 

D. राƶपित कȧ सलाह पर Ĥधान 
मğंी Ʈारा  

     
 Ministers in the Union Cabinet are appointed by ? 

 
 A. The Prime Minister B. The President 
 C. The President of India on 

the advice of the Prime 
Minister 

D. The Prime Minister on the 
advice of President of India 

     
75. जैव ǒवǒवधता Èया है ?    

 A. कई Ĥकार के पौधɈ एव ँ
जीवɈ का एक हȣ जंगल 
मɄ पाया जाना 

B. कई Ĥकार के पौधɈ एव ँजीवɈ 
का कई जगंलɈ मɄ होना 

 C. एक जगंल मɅ एक Ĥजाित 
कȧ कई आबादȣ 

D. उपरोƠ सभी सहȣ हɆ 

     
 What is ‘Biodiversity’?  
 A. Many types of flora and 

fauna in one forest 
B. Many types of flora and 

fauna in many forests 
 C. Many population of one 

species in one forest 
D. All the above are true 

     
76. िनàनिलǔखत कृǒष Ĥथाओं मɅ से कौन सी पया[वरण के अिधक अनुकूल है? 

 A. जǒैवक खतेी B. èथानातंरण कȧ खतेी या 
झमू खतेी 

 C. Êलास-हाउस मɅ बढ़ते पौध े D. अिधक उपज देने वाली 
Ǒकèमɉ कȧ खतेी 

     
 Which one of the following agricultural practices is more eco-friendly ?  
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 A. Organic farming B. Shifting cultivation 
 C. Growing plants in glass-

house 
D. Cultivation of high yielding 

varieties 
77. जंगल िमÒटȣ के कटाव को कैसे िनयंǒğत करते हɆ ? 

 A. सयू[ कȧ रोशनी के Ĥवशे 
को कम करके 

B. िमÒटȣ कȧ सतह पर वषा[ के 
बल को कम कर के 

 C. दबाव कम करके D. िमÒटȣ कȧ सतह पर वषा[ के 
बल को अिधक कर के 

     
 How erosion is controlled by forest?  
 A. By reducing in the 

sunlight penetration 
B. By reducing the rainfall’s 

force on the soil’s surface 
 C. By reducing the pressure D. By increasing the rainfall’s 

force on the soil’s surface 
     

78. िनàनिलǔखत मɅ से कौन सी "िमÈस फािमɍग" कȧ Ĥमुख ǒवशेषता है? 
 A. एक साथ पशुओं का 

पालन और फसलɉ कȧ 
खतेी 

B. नकदȣ फसलɉ और खाƭ 
फसलɉ दोनɉ कȧ खेती 

 C. एक हȣ खते मɅ दो या दो 
से अिधक फसलɉ कȧ 
खतेी 

D. उपरोƠ मɄ से कोई नहȣU 

     
 Which of the following is the chief characteristic of ‘mix farming’ ?  
 A. Rearing of animals and 

cultivation of crops 
together 

B. Cultivation of both cash 
crops and food crops 

 C. Cultivation of two or 
more crops in the same 
field 

D. None of the above 

     
79. भारत मɅ कंटȣले वन कहा ंपाये जाते हɆ ? 

 A. अध[-शçुक ¢ेğ B. मǾèथल 
 C. Ǒहमालयन ¢ेğ D. पूवȾƣर ¢ेğ 
     
 Where can we find thorn forest in India?  
 A. Semi-arid regions B. Desert regions 
 C. Himalayan regions D. Northeast regions 
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80. भमूंडलीय उçमीकरण (Êलोबल वािमɍग) से ता×पय[ है ? 
 A. जलवायु मɅ भारȣ बदलाव B. सभी जगह गम[ जलवाय ु
 C. सभी जगह बफ[  D. पØृवी कȧ सतह के औसत 

तापमान मɅ वǒृƨ 
     
 Global warming refers to ? 
 A. Change in climate B. everywhere will be hot 

climate 
 C. everywhere will be 

freezing 
D. the increase in Earth's 

average surface 
temperature 

     
81. भारत मɅ जूट कȧ खतेी िनàनिलǔखत मɅ से Ǒकस नदȣ के डेãटा ¢ेğ मɅ कɅ Ǒġत है? 

 A. गंगा B. महानदȣ 
 C. Ħƺापुğ D. गोदावरȣ 
     
 Jute cultivation in India is concentrated in the delta area of which of the following rivers?  
 A. Ganga B. Mahanadi 
 C. Brahamputra D. Godavari 
     

82. भमूÚय रेखा से लगे वनɈ को कहा जाता है ? 
 A. पण[पाती वन B. शुçक वन 
 C. ऊçणकǑटबंधीय वषा[ वन D. ऊपोçणकǑटबधंीय वन 
     
 Forests, close to the equator line are known as ? 
 A. Deciduous forests B. Arid forests 
 C. Tropical rain forests D. Subtropical forests 
     

83. िनàन के अलावा सामाÛयत: सभी Ēह अपनी धूरȣ पर दǔ¢णावत[ घमूते हɇ । 
 A. पØृवी एवँ शिन B. बहृèपित एव ँमगंल 
 C. शुĐ एव ँअǽण D. बुƨ एवँ बहृèपित 
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 Generally planets revolve clockwise (east to west) in their axis except - 
 A. Earth and Saturn B. Jupiter and Mars 
 C. Venus and Uranus D. Mercury and Jupiter 
     

84. िनàन मɄ से कौन सा Ēह अपनɄ चारɈ और सात रंगीन छãलɈ कȧ उपǔèथित से अिधक संुदर Ǒदखता 
है ? 

 A. पǔृØव B. शिन 
 C. बहृèपित D. बुƨ  
     
 Which planet has seven colourful rings around it making it the most beautiful among all 

planets ? 
 A. Earth B. Saturn 
 C. Jupiter D. Mercury 
     

85. जावा Ĥिसƨ है ? 
 A. धान के उ×पादन हेतु B. खदानɈ हेत ु
 C. सवा[िधक जनसÉँया हेतु D. बाढ़ एव ँअकाल हेतु 
     
 Java is famous for ? 
 A. Rice production B. Mining Industries 
 C. Huge population D. Flood and famines 
     

86. B.O.D. का ǒवèततृ Ǿप है ? 
 A. बैÈटȣǐरयल ऑÈसीजन 

Ǒडमांड 

B. बायोलोǔजकल ऑÈसीजन 
Ǒडमांड 

 C. बायोलोǔजकल ऑÈसाईड 
Ǒडमांड 

D. उपरोƠ मɄ से कोई नहȣ 

     
 What is the full form of B.O.D.?  
 A. Bacterial Oxygen 

Demand 
B. Biological Oxygen Demand 

 C. Biological Oxide Demand D. None of these 
     

87. रबी और खरȣफ के अलावा, भारत मɅ तीसरȣ फसल का मौसम कौन सा है? 
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 A. जैद B. बरसाती 
 C. शरद D. झमू 
     
     
 Besides Rabi and Kharif, which is the third crop season in India?  
 A. Zaid B. Barsati 
 C. Sharad D. Jhum 
     

88. भोला का ǒवलोम है ?  
 A. चालाक B. तेजèवी 
 C. बǒुƨमान D. चंचल 
     

89. ‘अÛवषेण’ का सǔÛध -ǒवÍछेद होगा?  
 A. अन   + वेषण B. अनु   + एषण 
 C. अनु   + ऐषण   D. अनव   + एषण 
     

90. लकȧर का फकȧर होना?  
 A. सरल जीवन यापन करना B. परàपरावादȣ होना 
 C. झाड़ -फूक पर ǒवƳास करना D. आडàबर ǒवरोधी होना 
     

91. ‘मिैथली’ का ǒवकास Ǒकस अपħशं स ेमाना जाता है ?   
 A. शौरसेनी अपħशं   B. मागधी अपħंश   
 C. अध[मागधी अपħंश   D. मराठȤ अपħंश    
     

92. ‘बाǐरश होगी तो हम भी ǒपकिनक चलɅगे’ इस वाÈय मɅ है?  
 A. सàभावनाथ[ वǒृƣ   B. संकेताथ[ वǒृƣ   
 C. िनƱयाथ[ वǒृƣ   D. आ£ाथ[ वǒृƣ         
     

93. Choose the meaning of the phrase “To turn over a new leaf”.  
 A. to disclose a secret B. to divert from the path 
 C. to destroy a leaf D. to commence a new course 

of life 
     

94. Choose the meaning the phrase of “Right hand man”.  
 A. most efficient assistant   B. a foolish person   
 C. an honest D. one who cannot use his 

hand 
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95. Complete the sentence "the babies …………… when they are hungry.  
 A. cry B. cries 
 C. cried D. are crying 
     
     
     
     

96. Complete the sentence "The River Thames ---- through London".  
 A. Is flowing B. has been flowing 
 C. flows D. has flowed 
     
     

97. Fill in the blanks from the options given below "How many students in your class …………… from 
Korea".  

 A. comes B. come   
 C. came D. coming 
     
98. Fill in the blanks from the options given below, "The teacher gives many examples to ………………… 

the idea contained in the poem".  
 A. bring about B. bring in 
 C. bring forth D. bring out 
     
99. Fill in the blanks in the sentence from the options given below "You are unable to ……………. the 

meaning of this passage".  
 A. make off   B. make out   
 C. make over   D. make up 
     
100. Complete the sentence "Sorry, you can't borrow my pencil. I …………….. it myself". 
 A. was using B. using 
 C. use D. am using 

 


